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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheel.

1- Governments usually —-—--—- freedom of movement into and out of the country in time of
War.
1) detect 2) induce 3) restrict 4) simulate

2-  You can only come on the school trip if your parents give their written -----===--,
1) device 2) consent 3) criterion 4) inclination

3- The government ------—-- that the buildings would not be redeveloped in the historical parts of
the town.
1) tackled 2) confronted | 3) committed 4) undertook

4-  She intends to -------- - a medical career, but her father would like her to study law.
1) engage 2) resolve 3) aspire 4) pursue

5-  Students can be expelled at the -------—- of the head teacher, and they cannot return to school
within a year after expulsion.
1) foresight 2) judgement 3) alternative 4) discretion

6- The war would have ended if the enemy planes had not -----—- - the cease-fire agreement.
1) violated 2) enforced 3) exceeded 4) attributed

7- Maths is a(n) -=~==---- part of the school curriculum almost anywhere in the world.
1) eventual 2) intrinsic 3) concurrent 4) simultaneous

8- He said that if the annual floods got ---------- worse they would have to leave the area.
1) any 2) more 3) very 4) enough

9- They asked the students not ------— — in the building once they had finished the test.
1) stay 2) stayed 3) to stay 4) staying

10- He had two of his teeth ~~-ev-- — at the dentist's round the corner.
1) extract 2) extracted 3) extracting 4) were extracted
Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fils each
blank. Then mark your choice on your answer sheel.
Two sailors were missing at sea after two Greek-flagged ships (11) ---------- off the western coast of
Turkey and one of them sank. Ten sailors (12) ---------- board the sailing ship were rescued. The Pel
Mariner sank after it hit the Pel Ranger (13) ---------- seven miles off Turkey's western coast.
Anatolian news agency quoted officials (14) ---------- heavy fog could have played a part in the
accident (15) ---------- the Dardanelles Strait.

11- 1) collided 2) colliding 3) that collided 4) were collided

12- 1)in 2) on 3) over 4) above

13- 1)all 2) with 3) some 4) every

14- 1) say 2) said 3) saying 4) were saying

15- 1) near 2) was near 3) to be near 4) it was near
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Part C. Reading Comprehension

Directions: Read the following two passages and choose the best choice (1), (2), (3), or (4). Then
mark it on your answer sheet.

PASSAGE 1:

No marketplace currently exists for the mergers and acquisitions of privately owned
small to mid-sized companies. Market participants often wish to maintain a level of
secrecy about their efforts to buy or sell such companies. Their concern for secrecy
usually arises from the possible negative reactions a company's employees, bankers,
suppliers, customers and others might have if the effort or interest to seek a transaction
were to become known. This need for secrecy has thus far thwarted the emergence of a
public forum or marketplace to serve as a clearinghouse for this large volume of
business.- At present, the process by which a company is bought or sold can prove
difficult, slow and expensive. A transaction typically requires six to nine months and
involves many steps. Locating parties with whom to conduct a transaction forms one
step in the overall process and perhaps the most difficult one. Qualified and interested
buyers of multimillion dollar corporations are hard to find. Even more difficulties attend
bringing a number of potential buyers forward simultaneously during negotiations.
Potential acquirers in industry simply cannot effectively "monitor" the economy at large
for acquisition opportunities even though some may fit well within their company's
operations or plans. An industry of professional "middlemen" exists to facilitate M&A
transactions. These professionals do not provide their services cheaply and generally
resort to previously-established personal contacts, direct-calling campaigns, and placing
advertisements in various media. In servicing their clients they attempt to create a one-
time market for a one-time transaction. Many but not all transactions use intermediaries
on one or both sides.

16- We may understand, about privately owned small to mid-sized companies, from the passage
that -———-—-—- -

1) the 1dea of their sale is not welcome to their employees and customers

2) they are often sold in secret to influential bankers and shareholders

3) the immense profit from their sale goes to a marketplace clearinghouse

4) they do not generally constitute a large share of market transactions
17- Which of the following about the transaction process on the companies mentioned in the

passage is TRUE?

1) It may be difficult and expensive but it takes place quickly

2) There are about 6 to 9 steps before such transactions can be carried out

3) There are surprisingly numerous buyers willing to get involved in multimillion dollar

transactions

4) It1s extremely difficult to have buyers meet at the same time to talk about the deal.
18- It is stated in the passage about merger and acquisition transactions that —--—-—- A

1) middlemen are an essential part of their occurrence and legal status.

2) such transactions are cheaper and much more convenient if done through middlemen

3) the middlemen possibly involved are expensive to hire and highly professional

4) acquisition opportunities can be monitored by large companies but not by smaller ones
19- The passage is taken from a longer text on ------—--,

1) merger and acquisition marketplace difficulties

2) importance of middlemen in the execution of mergers

3) impossibility of merger and acquisition transaction in some case

4) practicality of merger and acquisition purchases in industrial societies
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20- The word 'thwart' in line 6 is closest in meaning to —-—-—-- -
1) ‘require’ 2) 'prevent’ 3) 'assume’ 4) ‘avoid'
PASSAGE 2:

A conglomerate is a large company that consists of divisions of often seemingly
unrelated businesses. Conglomerates were popular in the 1960s due to a combination of
low interest rates and a repeating bear/bull market, which allowed the conglomerates to
buy companies in leveraged buyouts, sometimes at temporarily deflated values. Famous
examples of the 1960s conglomerators include Ling-Temco-Vought, ITT Corporation
and Gulf and Western Industries. As long as the target company had profits greater than
the interest on the loans, the overall return on investment (ROI) of the conglomerate
appeared to grow. For many years this was enough to make the company's stock price
rise, as companies were often valued largely on their ROL The aggressive nature of the
conglomerators themselves was enough to make many investors, who saw a "powerful”
and seemingly unstoppable force in business, buy their stock. High stock prices allowed
them to raise more loans, based on the value of their stock, and thereby buy even more
companies. This led to a chain reaction, which allowed them to grow very rapidly.
However, all of this growth was somewhat illusory. As soon as interest rates started to
rise in order to offset inflation, the profits of the conglomerates fell. Investors also
noticed that the companies inside the conglomerate were growing no faster than they
had before they were purchased, whereas the rationale for buying a company was often
that "synergies" would lead to more efficiency. By the late 1960s they were frowned on
by the market, and a major sell off of their shares ensued. In order to keep the
companies going, many conglomerates were forced to shed the industries they had
purchased recently, and by the mid-1970s most had been reduced to shells. The

conglomerate fad was subsequently replaced by newer ideas like focusing on a
company's core competency.

21- Itis stated in the passage that conglomerates -—----—-.
1) are made up of unrelated businesses
2) have been quite in demand since the 1960s
3) used to enjoy the advantages of leveraged buyouts
4) were the main reason the common deflated values of the 60s
22- The passage suggests that a conglomerate's growth was thought to finally depend on the-------,
1) amount of loans it could secure for itself
2) management strategies of its major competitors
3) way its ROI was used to invest in other companies
4) interest it could manage to pay to its shareholders
23- The passage states that investors were often drawn to buying conglomerates' stocks because of
1) their methods of handling financial crieses
2) the fact they could act independently of stock prices
3) their serious competition with non-conglomerate companies
4) their attitude towards expansion in the business environment
24- Tt is stated in the passage that ------———-,
1) companies managed to keep their shell once inside a conglomerate
2) the market started to sell off conglomerates in the late 1960s
3) interest rates could negatively affect a conglomerates’ growth
4) conglomerates finally collapse because of their companies’ inefficiency
25- The word 'fad’' in line 22 is closest in meaning to --—----—-- : | r
1) 'business’ 2) 'fashion’ 3) 'success’ 4) 'support
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PASSAGE 3:

Risk Management is the process of measuring, or assessing risk and developing
strategies to manage it. Strategies include transferring the risk to another party, avoiding
the risk, reducing the negative effect of the risk, and accepting some or all of the
consequences of a particular risk. Traditional risk management focuses on risks
stemming from physical or legal causes (e.g. natural disasters or fires, accidents, death,
and lawsuits). Financial risk management, on the other hand, focuses on risks that can
be managed using traded financial instruments. In ideal risk management, a
prioritization process is followed whereby the risks with the greatest loss and the
greatest probability of occurring are handled first, and risks with lower probability of
occurrence and lower loss are handled later. In practice the process can be very difficult,
and balancing between risks with a high probability of occurrence but lower loss vs. a
risk with high loss but lower probability of occurrence can often be mishandled.
Intangible risk management identifies a new type of risk - a risk that has a 100%
probability of occurring but is ignored by the organization due to a lack of identification
ability. For example, knowledge risk occurs when deficient knowledge is applied.
Relationship risk occurs when collaboration ineffectiveness occurs. Process-engagement
risk occurs when operational ineffectiveness occurs. These risks directly reduce the
productivity of knowledge workers, decrease cost effectiveness, profitability, service,
quality, reputation, brand value, and eamings quality. Intangible risk management
allows risk management to create immediate value from the identification and reduction
of risks that reduce productivity. Risk management also faces difficulties allocating
resources. This is the idea of opportunity cost. Resources spent on risk management
could have been spent on more profitable activities. Again, ideal risk management
minimizes spending while maximizing the reduction of the negative effects of risks.

It is stated in the passage that --———----- ’

1) risk management often originates in such physical or legal issues as accidents and lawsuits
2) it is sometimes advisable to take risks as an effective risk management strategy

3) traded financial instruments are managed through financial risk management strategies

4) risk management should not ideally rely too much on spending to deal with risks

The passage mentions that —----——--- .

1) risk management can greatly benefit from the findings of intangible risk management

2) intangible risk management has little relevance to proper risk management and its functions
3) one of the least troublesome steps in risk management is the prioritization of risks

4) risk management focuses on risks with the highest loss and lowest probability
Process-management, knowledge and relationship risk are all concerned with concepts which
have the element of —-——--—- in common,

1) 'operation’ 2) 'management’ 3) 'collaboration’ 4) 'ineffectiveness'
Risk management can be criticized on the grounds that ——---—--- :

1) it may even reduce productivity while claiming that it can actually boost it

2) 1t does not sometimes generate profits in proportion (o the resources it needs

3) it deals with phenomena with an extremely low probability of occurrence

4) 1t works against the notion that what companies are after is immediate improvement

The verb "allocate’ in line 21 is closest in meaning to ----—------ .

1) ‘take up’ 2) 'take out’ 3) 'set aside’ 4) 'set down'
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Section I. Grammar

A. Directions: Choose the number of the answer (1), (2), (3), or (4) that best
completes the sentence. Then mark your answer choice on your answer sheet.

186- A: My car needs an oil change,

B: - the mechanic do it.
1) Ask 2) Tell 3) Get 4) Have
187- A: What did the surgeon tell Elizabeth?
B: He recommended ----- -- an operation.
1) she has 2) her have 3) that she has 4) that she have
188- A: When you were living in the country, were there a lot of deer?
B: Yes, but hardly ever - - any.
1) we saw 2) did we see 3) we did see 4) we didn’t see
189. A:Is Ted’s cold any better? '
B: it get worse, he should see a doctor.
D If 2) Were 3) Should 4) Unless does
190- A: I saw your neighbor break your window with a baseball.
B: e it made me really mad.
1) He broke 2) If he broke 3) That he broke 4) What he broke
191-  A: What did you think of Frank’s new project?
B: The more we heard about it, —e-s
1) we got more enthusiastic ' 2) more enthusiastic we got
3) the more we got enthusiastic 4) the more enthusiastic we got
192- A: A lot of research goes for AIDS research.
B: Yes, because it’s that the government is spending a lot to find a cure.
1) such serious that 2) so serious a disease  3) so a serious disease 4) a so serious disease
193- A: Eric is really upset about losing his job.
B: Well, -—- fired once myself, I can understand.
1) having 2) have been 3) having been 4) to have been
194- A: What did John do after he fell? '
B: He kept running --------=---- the severe pain in his left leg.
1) despite 2) unless 3) however 4) even though

195- A: How long is the flight?
B: -——-—- knowledge, it takes about 3 hours.

1) In my best 2) To my best 3) In best of my 4) To the best of my
196- A: Which one of these shirts do you want?
B: I’'m not sure I can a choice. I like all of them.
1) make 2)do 3) take 4) give
197- A:1wishl1 didn’t have to go away.
B: I’m sure you --—=------- your stay in the countryside next weekend.
1) enjoy 2) will enjoy 3) have to enjoy 4) will have enjoyed
198- A: Why isn’t Mary driving to work this week?
B: She has been taking the bus recently because her car e,
1) be repaired 2) needs to repair 3) 1s being repaired 4) has been repairing
199- A: Soccer is becoming very popular in Pakistan.
B: For many children it is a good alternative - - playing cricket.
1) to 2) of 3) from 4) with
200- A: What kind of novels would you like to read?
B: I'm interested in those novels with history, that is, important events that took
place in the past.
1) deal 2) dealing 3) they deal 4) that they deal
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B. Directions: In the following questions, some of the sentences have an error and
some have none. Each sentence is divided into three parts marked (1), (2), and (3)

followed by a “No error” part marked (4). If the sentence has an error, identify the
part (1), (2) or (3) that is wrong and if the sentence has no error, select the answer
choice (4). Then mark your answer choice on your answer sheet.

The trademark of Frank Lloyd Wright’s style was his ability to blend the essence of

(1) (2)
modernity with those of nature in his architecture. No error.
(3) (4)
Since the 1960s, population and development have steadily increased along the Amazon
(1) (2)

River, all of which is easily accessible to ships. No error.

3) (4)
Many varieties of bats make use of sonar, not vision to determining their positions.

(1) (2) (3)
No ervor.
(4)
To be established in 1948, the State University of New York is the largest university
(1) (2)
system in the United States. No error.
3) 4)

Virtually no disease exists today for which there is no drug that can be given, neither to

(1) (2)
cure the disease or to alleviate its symptoms. No error.

3) (4)
Talc, a soft mineral with a variety of uses, sold is in slabs or in powdered from. No error.

(1) ) 3) 4)
Underlying aerodynamics and all other branches of theoretical mechanics are the laws of
(1) 2)
motion which were developed in the seventeenth century. No error.
3) (4)
Between vou and I he probably won’t come at all. No error.
(1) (2) (3) 4)
I often wonder to whom is it that nation owes its greatest debt of gratitude. No error.
(1) (2) (3) 4)
Thev never discussed it: Suresh would not, and Neelam could not but either knew what was
(1) (2)
in the other’s thoughts. No error.
(3) (4)
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Section 1I. Vocabulary

A. Directions: Select the number of the answer choice (1), (2), (3) or (4) that best
completes the sentence. Then mark your answer choice on your answer sheet.

I hadn’t seen her for 20 years, but I ---—------- her immediately.

1) perceived 2) recognized 3) presumed 4) resembled

Union officials --------=——===-- the teachers met the government today.

1) replacing 2) declaring 3) specifying 4) representing

The he has committed carries a five-year sentence.

1) offense 2) scheme 3) legislation 4) consequence

She made a/an -- attempt to convert me to her point of view.

1) complex 2) earnest 3) elusive 4) sufficient

The policeman blew his whistle and the students ----—= in all directions.

1) scattered 2) disrupted 3) declined 4) interacted

We are demonstrating to show our anger and ------at what the police had done to
handle the case,

1) consent 2) disgust 3) sympathy 4) prevention

There was deadly between the two big companies te be the first to market the
product.

1) rivalry 2) bribery 3) nuisance 4) complication

These documents are ----------—- --. They must not leave this room.

1) loyal 2) qualified 3) confidential 4) patriotic

He is believed to have been shot by a criminal group in for the shooting last week.
1) scom 2) revenge 3) deceit 4) conquest

The council has introduced speed in residential areas to try to prevent road
accidents.

1) outcomes 2) sequences 3) inhibitions 4) restrictions

Security at the airport has been following the discovery of a bomb there.

1) enhanced 2) thickened 3) displayed 4) occurred

There is little ----- for people to leave their cars at home when public transport remains
SO expensive.

1) utility 2) initiative 3) incentive 4) flexibility

If you don’t sort out the papers on your desk on a regular basis they just keep on --=----- -

1) accumulating 2) distributing 3) collapsing 4) displacing

Four successive dry winters had made water shortages -—-- -

1) scarce 2) explicit 3) eventual 4) inevitable

Official denials just -------—- -- the impression that some huge fraud was being kept secret.

1) compiled 2) reinforced 3) identified 4) accomplished

Despite differences in background and outlook, their partnership was based on
respect, trust and understanding.

1) gentle 2) mutual 3) conscious 4) influential
We should be basing our decisions on solid facts rather than our -------—--— and guesses.
1) divisions 2) confidence 3) inclinations 4) interference

I don’t want t0 ——-—----—--- her achievements, but she did have a lot of help.

1) diminish 2) forgive 3) remove 4) overcome
Wind and rain have the statues into shapeless lumps of stone.

1) resisted 2) loosened 3) eroded 4) straightened
The wording of the agreement is ----- , so both interpretations are valid.

1) rational 2) curious 3) everlasting 4) ambiguous
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B. Directions: Questions 231-240 are related to the Jollowing passage. Read the

passage and decide which choice (1), (2), (3) or (4) best fits each blank. Then mark
your answer choice on your answer sheet.

The rest of the world has always baffled the Japanese. They realize that by turning inwards
they miss much and perhaps get dangerously out of step. But the ability te accept the new and
t0(231) -=-me-- is a vitally important part of the Japanese (232)-------. In the last century the
Japanese accepted industrialization and parliamentary democracy. In this (233) —----- they
quietly accepted sweeping changes after the last war. The image of Japanese society as not one
rock but a series of(234)------- that shift and change, but in the end remain rocks, has often
been employed. Japan also has a very modern (235) ------- _beautiful shops, gleaming office
blocks and excellent highways. In fact, Japanese people visiting European cities (236) -------
them very old and perhaps rather grey. But Japan’s appearance should not (237) -—-—-- the
visitor into thinking that the country has westernized; rather it has become spectacularly

- modernized. Visitors, whether on business or pleasure, will be given excellent (238)------- in

Japan, traveling in ease, comfort and safety, anywhere they will. On the practical level coping
with Japan (239)------- perhaps fewer problems than most countries, but if coping with the
country includes understanding the way the society works and trying to work with it, then the
visitor must be (240)------- for perpetual studenthood. One thing is certain: if you have the

chance to go to Japan, take it. Its charm and attractions are unique. You will be left with
enchanting memories,

1) raise 2) adapt 3) contain 4) manufacture
1) sample 2) format ' 3) signal 4) character

1) way 2) route 3) interval 4) century

1) hills 2) stones 3) rocks 4) sediments
1) era 2) image 3) trend 4) facility

1) think 2) claim 3) suppose 4) view

1) trap 2) oblige 3) delude 4) advertise

1) horizon 2) ceremony 3) treatment 4) advantage
1) derives 2) attracts 3) supplies 4) presents

1) prepared 2) involved 3) required 4) interested

Section IIl. Language Functions

Directions: Read the following conversations between two people and answer the

questions about the conversations by choosing one of the choices (1), (2), (3), or
(4). Then mark your answer choice on your answer sheet.

A: Good morning. JET Travel. How may 1 help you?

B: Hi. It’s Alan Dale here again. Star TV.

A: Oh, hi there! Is everything OK with Mr. Wyatt’s travel plans?

B: Yes, well, something else has (241)------ for him to do, so can you make some changes?

A: Yes, of course. That shouldn’t be a problem. I’m getting the details up on screen now. Do
you want me to cancel any of the flights?

B: Yes.(242)~-----. Just the last flight-the flight home from Jakarta on 29" April. And would
you mind(243)------- a flight to Tokyo instead?

A: No, of course not. No problem.

1) come up 2) put down 3) got over 4) gone through

1) Never mind 2) I'd like to

3) If you could 4) 1 won’t go along with that |

1) booking him on 2) reserving a seat from  3) keeping my seat on ,4)-giving a ticket from
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A: Is thaf Yvess Massot?
B: Yes, (244) —-——,
A: Hello, this is Jeff Temple I (245)---—-- about the new brochure. Have you received my
letter?

B: Oh, yes.I remember. It looks very interesting
A: Well, can we met on Friday. Shall we say ten o’clock?
B: Yes, 10 a.m. (246)------ %

1)Iam 2) speaking 3) that 18 4) talking to you

1) am talking 2) am calling 3) have a ring 4) will have phoned
1) suits me fine 2) would work well

3) would be pretty soon 4) sounds like a good idea

A: And so. Welcome to the studio, Dr Goodman.

B: It’s a pleasure to be here.

A: Now, I know that many of our listeners are already (247)—--—-- the biosphere project, but
many others are not. Perhaps you could (248)-—---- by telling us exactly what a biosphere
reserve is?

B: Biosphere reserves are areas that are specially protected by conservationists so that
scientists and others can study them. We hope this will (249) ------ easicr to preserve such
areas in other parts of the world.

A: And are there only UNESCO scientists working on these reserves?

B: No in fact the local community always makes an important (250)-----— the research and the
management of the reserve. (251)--—-- the Brazilian reserve, Brazil has made a big

contribution because they already had a lot of experience.

1) ready to 2) familiar with 3) identified with 4) concerned about
1) go on 2) point out 3) start off 4) inquire into

1) do 2) do it 3) make 4) make it

1) contribution to 2) relevance to 3) association with 4) correlation with
1) In comparison 2) In the case of 3) On the point of 4) As the matter of

A: Before we move into the topic of genetic engineering, I’d like to answer any questions you
have (252) - on the basic structure of DNA and make sure you understand the
terminology. [PAUSE] Yes, John?

« I’m still not clear on the difference between a chromosome and a gene.

: Well, you can think of the chromosome as packaging, (253) - or the container for the
DNA molecule. The whole DNA molecule (254) ------- thousands of genes, and it’s twisted
around inside of the chromosome.

B: So does the term double helix (255)------ DNA?

A: Yes, but specifically “double helix” concerns the shape of the DNA molecule.

>

1) at the issue 2) up to this point 3) come into your mind 4) raised for the subject
1) so to speak 2) either this 3) in other words 4) on the one hand

1) is made up of 2) extracts from 3) is a division of 4) corresponds with

1) equal to 2) consist of 3) refer to 4) break down
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Section IV. Reading Comprehension ﬁ

Directions: In this part of the test, you will read four passages. Each passage is
followed by some questions. Answer the questions by choosing the best choice (1),
(2), (3), or (4). Then mark your answer choice on your answer sheets.

PASSAGE 1:

It is the difficulty of ascribing a causal role to any variable that leads us to the use of
experiment, for by the establishment of adequate experimental control we put ourselves in a
position to say: ‘if x had not occurred y would not have happened; therefore, x is causally
related to y.” A typical method of conducting a study of this kind is to draw up two groups of
subjects who differ with respect to x which may be called the independent variable. For
example, if the investigator is interested in the effect of noise upon efficiency at work he may
assign half of his subjects to work in noisy conditions and half to work in quiet conditions.
The independent variable then is the background noise-the characteristic in which the
experimental situation of individual subjects is made to differ. The measure which the
experimenter takes of ‘efficiency at work’ is then termed the dependent variable, since it is
hypothesized to be dependent upon the independent variable-that is, the variable
independently manipulated by the experimenter. Incidentally, manipulation may take the
form either of employing two or more different values of the independent variable, or of
varying simply whether it is present or absent (the presence or absence of distraction while at
work, for example). When one group of subjects receives a zero value of the independent
variable it is commonly referred to as a control group, while subjects receiving a positive
value of the independent variable constitute the experimental group.

The passage is primarily concerned with

1) the uses of experiments 2) the two roles of variables
3) the process of making a hypothesis 4) variables in experimental research studies
The dependent variable -,

1) is one of the two research variables

2) has a zero value in the experimental group

3) may be either present or absent in the control group
4) is more dependent on the experimental group

The passage suggests that in an experimental research ---------- :
1) every variable is made to differ

2) variables are dependent on each other

3) there are two types of the control group

4) the two variables are causally related to each other

The word “constitute” in line 17 is closest in meaning to -- .
1) direct 2) evolve 3) form 4) arrange
The author gives the example of noise to --—------—---- ’

1) explain an ideal experimental situation

2) show the importance of experimental groups

3) prove the negative effects of noise on efficiency

4) make a distinction between dependent and independent variables

In the example concerning the effect of noise, ------=n-n-vvuv .

1) there are two independent variables

2) noise is manipulated by the researcher

3) the subjects are independent variables

4) the relationship between noise and efficiency is measured

Which one of the following does the passage support?

1) An experimental group is an independent variable

2) An independent variable is always an individual

3) A hypothesis involves the relationship between some variables

4) A dependent variable consists of a cause and an effect
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The word-"it" in line 14 refers to --——------ »
1) manipulation 2) form 3) value 4) variable
PASSAGE 2:

Recent estimates of language populations suggest that half of the world’s languages will
become extinct in the 21* century, and that only 1,000 or so languages may remain by the
22", The speed of this decline is largely a consequence of the political and economic pressures
which are motivating people to replace their traditional language by one which gives them
access to the languages of more powerful cultures.

The publication in the early 1990s of major surveys of the world’s languages has placed the
facts before an increasingly concerned public. Bodies such as the UNESCO Committee on
Language Endangerment, the Foundation for Endangered Languages (established in the UK
in 1995), and the Linguistic Society of America’s Committee on Endangered Languages and
their Preservation are already handling many enquiries and fostering research initiatives.
Information is gradually becoming available on the Internet—such as through the World Wide
Web site of the Summer Institute of Linguistics. And a clearinghouse for the world’s
endangered languages was established in 1995, at the request of UNESCO, in the University
of Tokyo.

There are two aspects to the current concern. On the one hand, many communities are
anxious to revive, maintain, and if possible enhance their endangered language. Progress here
depends on recognizing the vast differences between the political and cultural situations — as
illustrated by Welsh, Gaelic, Maori, Quechua, and the American Indian and Australian
Aboriginal languages-which demand very different solutions. At the same time, progress also
depends on collaboration between minority groups, such as those who form the European

Bureau for Lesser Used Languages (EBLUL). There is then a real chance of influencing
international policies.

The best title for the passage would be

1) Endangered Languages 2) Communication in the 21* Century

3) Language Populations in the Future 4) The Role of UNESCO in Linguistic Policies
According to the passage, UNESCO —---—-ere-- "

1) published major surveys in the 1990s 2) is concerned about the extinction of languages
3) opened an office in the UK in the mid-1990s  4) requested three bodies to carry out research
The word “which” in line 19 refers to - ‘

1) languages 2) differences 3) Welsh and Gaelic ~ 4) politics and culture

A large number of communities
1) can benefit from EBLUL's policies

2) are concerned about population explosion

3) want to form a bureau for less used languages

4) are worried about the differences between cultural situations
Maori is cited as an example of

1) an extinct language 2) an endangered language

3) a politically developed society 4) a language which is very demanding to learn
The passage implies that -

1) it is impossible to maintain lesser used languages

2) the number of revived languages may increase in the 22" century

3) the reason for the decline of languages is non-linguistic

4) the Summer Institute of Linguistics has enhanced many languages

The decline in the number of languages is mainly due to -
1) the international policies of UNESCO

2) economic development in the 21% century

3) people’s interest in only 1,000 languages all over the world
4) the pressure coming from the languages of powerful cultures
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According to the passage, it is NOT true that
1) the number of the world’s languages is decreasing

2) Australian aboriginal languages are endangered
3) American Linguistic Society is one of the concerned bodies
4) endangered languages had better gain access to powerful languages

PASSAGE 3:

Much has been written about business executives as “organization men.” According to this
view, typical company managers no longer display the individualism of earlier generations of
entrepreneurs. They seek protection in committee-made decisions and tailor their
personalities to please their superiors; they aim to be good “team” members, adopting the
firm's values as their own. The view is commonly held that there are companies—and entire
industries—that have discouraged innovative ideas. The real question now is whether or not

companies will develop policies to encourage autonomy and advenfuresomeness among
managers.

In Japan, where the employees of large corporations tend to remain with the same
employer throughout their working lives, the corporations recruit young men upon their
graduation from universities and train them as company cadets. Those among the cadets who
demonstrate ability and a personality compatible with the organization are later selected as
managers. Because of the seniority system, many are well past middle age before they achieve
high status. There are signs that the system is weakening, however, as efforts are more often
made to lift promising young men out of low-echelon positions. Criticism of the traditional
method has been stimulated by the example of some of the newer corporations and of those
owned by foreign capital. The few men in the Japanese business world who have emerged as
personalities are either founders of corporations, managers of family enterprises, or small

businessmen. They share a strong inclination to make their own decisions and to minimize the
role of directors and boards.

According to paragraph 1, earlier managers were more - - than today's managers.
1) autonomous

2) conformist
3) respectful of organizational hierarchy
4) antagonistic to novel ideas
The word "tailor" in line 3 is closest in meaning to
1) pursue
2) evaluate
3) esteem
4) adjust .
Based on the traditional management system in Japan, those who reach high positions are
those -- ‘
1) being employed by foreign corporations acting in Japan
2) demonstrating managerial skills after they are middle-aged
3) in accord with the guidelines based on which companies work
4) recently graduated from college and trained by their respective companies
The word " they" in line 19 refers to - - -
1) corporations
2) few men
3) personalities
4) small businessmen
"the newer corporations' referred to in line 16 are most probably characterized by ---—--- :
1) being fed by money supplied by companies located outside Japan
2) serving as the best examples of the typical management system in Japan
3) following a different route from that of nfainstream Japanese companies
4) being criticized by Japanese people for their indifference toward conventions
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All of the following are used as techniques to develop the information in the passage
EXCEPT :
1) contrast
2) cause and effect
3) exemplification
4) process description
PASSAGE 4:

The modern multinational corporation is described as having originated when the owner-
managers of nineteenth-century British firms carrying on international trade were replaced
by teams of salaried managers organized into hierarchies. Increases in the volume of
transactions in such firms are commonly believed to have necessitated this structural change.
Nineteenth-century inventions like the steamship and the telegraph, by facilitating
coordination of managerial activities, are described as key factors. Sixteenth- and
seventeenth-century chartered trading companies, despite the international scope of their
activities, are usually considered irrelevant to this discussion: the volume of their transactions
is assumed to have been too low and the communications and transport of their day too
primitive to make comparisons with modern multinationals interesting.

In reality, however, early trading companies successfully purchased and outfitted ships,
built and operated offices and warehouses, manufactured trade goods for use abroad,
maintained trading posts and production facilities overseas, procured goods for import, and
sold those goods both at home and in other countries. The large volume of transactions
associated with these activities seems to have necessitated hierarchical management structures
well before the advent of modern communications and transportation. For example, in the
Hudson’s Bay Company, each far-flung trading outpost was managed by a salaried agent,
who carried out the trade with the Native Americans, managed day-to-day operations, and
oversaw the post’s workers and servants. One chief agent, answerable to the Court of

Directors in London through the correspondence committee, was appointed with control over
all of the agents on the bay.

THe early trading companies did differ strikingly from modern multinationals in many
respects. They depended heavily on the national governments of their home countries and
thus characteristically acted abroad to promote national interests. Their top managers were
typically owners with a substantial minority share, whereas senior managers’ holdings in
modern multinationals are usually insignificant. They operated in a pre-industrial world,
grafting a system of capitalist international trade onto a pre-modern system of artisan and
peasant production. Despite these differences, however, early trading companies organized

effectively in remarkably modern ways and merit further study as analogues of more modern
structures.

The author’s main point is that ---- -

1) the management structures of early chartered trading companies are fundamentally the same as
those of modern multinationals

2) carly chartered trading companies should be more seriously considered by scholars studying
the origins of modern multinationals

3) modern multinationals originated in the sixteenth and seventeenth centuries with the
establishment of chartered trading companies

4) the success of early chartered trading companies, like that of modern multinationals, depended
primarily on their ability to carry out complex operations
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According to the passage, early chartered trading companies are usually described i;s ————— --

. — i — —

1) analogues of nineteenth-century British trading firms
2) irrelevant to a discussion of the origins of the modern multinational corporation

3) interesting but ultimately too unusually to be good subjects for economic study
4) rudimentary and very early forms of the modern multinational corporation

It can be inferred from the passage that the author would characterize the activities engaged
in by early chartered trading companies as being ——-—-.

1) as intricate as those carried out by the largest multinational corporations today
2) often unprofitable due to slow communications and unreliable means of transportation
3) too simple to be considered similar to those of a modern multinational corporation

4) complex enough in scope to require a substantial amount of planning and coordination on the
part of management

- -

1) demonstrate that the volume of business transactions of such companies exceeded that of earlier
firms

2) refute the view that the volume of business undertaken by such companies was relatively low

3) analyze the various ways in which these activities contributed to changes in management
structure in such companies

4) support the argument that such firms coordinated such activities by using available means of
communication and transport

With which of the following generalizations regarding management structures would the
author of the passage most probably agree?

1) Companies that adopt hierarchical management structures usually do so in order to facilitate
expansion into foreign trade. '

2) Firms that routinely have a high volume of business transactions find it necessary to adopt
hierarchical management structures.

3) Hierarchical management structures cannot be successfully implemented without modern
communications and transportation.

4) Modern multinational firms with a relatively small volume of business transactions usually do
not have hierarchically organized management structures.

The passage suggests that modern multinationals differ from early chartered trading
companies in that

1) modern multinationals have operations in a number of different foreign counties rather than
merely in one or two

2) modern multinationals depend on a system of capitalist international trade rather than on less
modern trading systems

3) the overseas operations of modern multinationals are not governed by the national interests of
their home countries

4) the operations of modern multinationals are highly profitable despite the more stringent
environmental and safety regulations of modern governments
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The author mentions the artisan and peasant production systems of early chartered trading
companies as an example of - ;

1) a positive achievement of these companies in the face of various difficulties

2) a system that could not have emerged in the absence of management hierarchies

3) a similarity that allows fruitful comparison of these companies with modern multinationals
4) a characteristic that distinguishes these companies from modern multinationals

The passage suggests that one of the reasons that early chartered trading companies deserve

comparison with early modern multinationals is -=------,
1) the similar nature of their management structures
2) the degree to which they both depended on new technology
3) their common tendency to revolutionize systems of production
4) similarities in their top management’s degree of ownership in the company
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